plot sling (1, 1);
plot sling (1, 1) + sling (.2, 6); 
plot sling (1, 1) + sling (s1, 6);

theta = 2 * pi * t;
offset = pi * s1;
plot polar(1, theta + offset) + sling(s2, 6);

plot sling (t, 3);

plot sling (t, 300*s1);
plot sling(1, 1) + sling(s2, 100*s1);
//celtic braids
nLine = 400;
theta = 2 * pi * t;
len = 1 + .5 * sin(8 * theta);
plot polar(len, 3 * theta);
plot polar(len - .2, 3 * theta);
//slings and arrows
// crosshairs
s = scale(-1.1, 1.1); 
plot cartesian(s, 0); 
plot cartesian(0, s); 
// arrow arc 
r = s2;
angle = 2*pi * (1 - s1);
plot polar(r, angle*t); 
// arrow head 
tip = polar(r, angle);
plot tip + polar(.1*t, angle - pi/4);
plot tip + polar(.1*t, angle - 3/4 * pi); 
// stone
plot polar(1, angle) + sling(.1, 1);
// sling strap
plot polar(t, angle);


//nice stars
nLine = 5;
s = sling(1, 2);
max = 13;
for(x, 1, max) {
    theta = s1*x/max*2*pi; 
    plot polar(10, theta) + s;}

